S|

[
SPRAYING DEVICES INC.

SDI Trailer Assembly
Model TM80-14

Spraying Devices, Inc., P O Box 3107+Visalia, CA. 93278 Tel: (559)734-5555¢Fax: (559)734-5591 P1359/1109jj




SDI Trailer Assembly, Model TM80-14

Item Part

Number Number Description Qty
1 80-102BH | Drawbar with ball hitch 100 Gal Sprayer 1
2 80-204 Crank Jack Top Wind 10" 1
3 69-900 Transport Chain 5/16", Per Foot Specify
4 69-290 Safety Hook with Latch 7/16 Zinc 5K Capacity 2
5 11-082L Fender Mount Front Left/Running Gear 1
6 11-082R Fender Mount Right/Running Gear 1
7 11-081L Fender Mount Rear Left/Running Gear 1
8 11-081R Fender Mount Rear Right/Running Gear 1
9 11-100 Spacer/Fender Mount 4
10 11-116 Bracket/Tail Light 100 Gallon 2
11 80-224 Jackman White Spoke Wheel 15 x 6" 5 on 5-1/2 2
12 80-313 Hub Assembly High Flotation 5 Bolt x 5-1/2 2
13 80-940 Front Shackle Mount 2
14 80-941 Rear Shackle Mount 2
15 80-952 Spring AWS-3 2
16 80-962 U-Bolt Kit U4203 1
17 80-972 Fender 7-1/2 x 30" 100 Gallon 2
18 80-982 Light Kit 1
19 80-989 Axle 100 Gal DOT 1
20 81-215 Tires P225/7D15 2
21 42-104 Flat Washer 1/2" 16
22 43-104 Lockwasher 1/2" 16
23 41-104 Hex Nut 1/2" 16
24 34-104 Hex Bolt 1/2 x 1-1/4" 12
25 31-503 Hex Bolt 5/16 x 1" SST 4
26 31-504 Hex Bolt 5/16 x 1-1/4" SST 4
27 41-502 Hex Nut 5/16" NC SST 8
28 42-502 Flat Washer 5/16" SST 8
29 43-502 Lockwasher 5/16" SST 8
30 72-101S Socket 6-Prong 1
31 72-101 Plug 6-Prong 1
32 72-075 Plated Steel Loom Clamp 1/2" 5
33 72-086 Wire Casing 1/4" Per Foot Specify
34 72-088 Wire Casing 1/2" Per Foot Specify

PJ359/1109jj

Spraying Devices, Inc., P O Box 3107+Visalia, CA. 93278<Tel: (559)734-5555¢Fax: (559)734-5591




